
�����  3 

��	�
��
������ 
 
 �������	
����
����
����������	���������������	�����
�����	
 ��!��"#$��
���!����%&
���
��
�'�����	��$()��
�����	
'��
��*	�������+ �� 2 !�����!-�
����
�)$���
 ������������*	������ �)$ 36 
��������'�	���	 ���������������	������0�����	
 ��!��"#
���!����%&
���
���'�����	��$()��

�����	
'��
��*	�������+ �� 2 !�����!-�
����
�)$���
 ������������*	������ �)$ 36 ��������'�	���	
1#������!�0��!������������)�������	 ��!��"#$��
���!����%&
���
���'�����	��$()��
�����	

'��
��*	�������+ �� 2 !�����!-�
����
�)$���
 ������������*	������ �)$ 36 ��������'�	���	 ����	#����	�
&
����-��
�
�������	 ���
�� 
 
����������������������� 

 

 ������� 

 ���'��� ��&'0&
�������	
����
����2

�����	
'��
��*	�������+ �� 2 !�����!-�
����
�)$���
 ��
����������*	������ �)$ 36 &
��������'�	���	 3����������0�	�-��4� ������ 18 �-��4� 
�� �-��4������ 
�-��4����	�'�	 �-��4��'�	�)�� �-��4�� �� �-��4���
 �-��4��7�1�� �-��4�1����
 �-��4��'�	�1!
 �-��4�1��
!�	 �-��4�1��!��	 �-��4����	��7���8� �-��4��9���:���	 �-��4����	�1��
 �-��4�)�
$�# �-��4�1��;8�
�#�� �-��4�1��#�� �-��4����	��'�	���0� 1#��-��4���	�#�� ��<�����	
��*	������ ������41 <�����	
 
��
�����	
'��
��*	�������+ �� 2  �������-�
�
 6,590 

 ���-�
�
�0�����	
 ������ 189 �0�� (!-�
����

�)$��� 
  �� � ���� �� �� ���� * 	��� �� � �)$  36.  http : //202 .143 .157 .36 /sec36gis/570000 
01/files/20110815 110500IZcvWOR.pdf.  2554) 
 ������������� 

 �#���$���	��� ��&'0&
�������	
����
��  ��2

�����	
'��
��*	�������+ ��  2 !�����!-�
����
 
�)$���
 ������������*	������ �)$ 36 &
��������'�	���	 �+�������� 2555 �-�
�
 1,850 

 Y�0��
<�	���!���1���#�	)��
$�
 (Multistage Random Sampling) <�	��)��
$�
 ���
�� 
 )��
$�
 �� 1 ����-��
�)
��)���#���$���	��� ��)��
$�
���$��Y�
�� 
 1. ��)
��)���#���$���	��� <�	��a�$����)�� Taro Yamane  ��
����'������
 95 % ��
��

���
#���
#���
������!����0�	#� 2 �������	&

����
�����-�
�
���'��� ������ 6,590 

 ��������a�
$����Y�0�-�
�
�#���$���	�����2
 1,842 

 1$������&�0�������	��
���1��
	-����)��
 "f0����	Y�0�����
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�-�
�
�#���$���	�����2
 1,850 

 1#��
�������&
������
����(��������
����)
���#���$���	��� 
Y��$�-����� 1,200 

 ��'��	&�0��������g
��
���'�
1#����$����
��������!�1#�
��&�#0�
�	�
�� 
 ��1 0���� (h�$�����  �a	����#!� *�i.  2554 : 2 ; �0�������� Bassiri.  citing Heck and Thomas.  1988 : 2000) 
 2.  -����1���'��
<�����	
$��1
� �������� -��������g1#��������������g)��
!-�
����
�)$���
 ������������*	������ 1���)
�������2
 4 )
�� 
�� <�����	
)
���#:� <�����	

)
���#�� <�����	
)
��&�9� 1#�<�����	
)
��&�9������ ���
�� 
  2.1  <�����	
)
���#:� �-�
�
 1-499 

 ����� �� ������ 14 <�����	
 
  2.2  <�����	
)
���#�� ���-�
�

�����	
 500-1,499 

 ����� �� ������ 21 <�����	
 
   2.3  <�����	
)
��&�9� ���-�
�

�����	
 1,500-2,499 

 ����� �� ������ 1 <�����	
 
  2.4  <�����	
)
��&�9��� ��� ���-�
�

�����	
 2,500 

)��
Y� ����� �� ������ 5 
<�����	
 
 3. 
-�
�g���-�
�
<�����	
 ����2
�#���$���	��� ���
�� 
 

=	
�,���	�	��

	,�
�
 = 11.50 ≈ 12 <�����	
 

 
 ����-�
�
�#���$���	��� 12 <�����	
 
-�
�g���-�
�
<�����	
&
1$�#�)
��)��
<�����	
 <�	&'0��*�� �	�!��!��
���
�� 
 

<�����	
)
���#:�  =	
��	�	��

��
 = 4.09 ≈ 4 <�����	
 

 

<�����	
)
���#��  =	
��	�	��

��
 = 6.15 ≈ 6 <�����	
 

 

<�����	
)
��&�9�  =	
�	�	��

��
 = 0.29 ≈ 1<�����	
 

 

<�����	
)
��&�9������  =	
�	�	��

��
 = 1.46 ≈ 1 <�����	
 

 
 4. 
-�
�g!��!��
)���
��	$���	��� �� ��2

�����	
���<�����	
 ��!�����1$�#�)
��
<�����	
 ���
�� 
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<�����	
)
��&�9������   =	
�	�	����

��
 = 154 

 

 

<�����	
)
��&�9�  =	
�	�	����

��
 = 154 

 

 

<�����	
)
���#��  =	
		�	����

��
 = 925 

 

 

<�����	
)
���#:�  =	
�	�	����

��
 = 617 

 

 
 )��
$�
 �� 2 )��
$�
���!��� �-��
�
����#����#���$���	��� �0�	���!���1���#�	)��
$�
 
�-��
�
������
��  
 1. &'0��*����!����	������	 (Simple Random Sampling) <�	������h#��'���<�����	
 ����&'0
��2
�#���$���	���)��1$�#�)
��<�����	
1��Y��1 
 �� (Simpling Without Replacement) $���-�
�

 ��Y�0������� �	�!��!��
&
)��
$�
 �� 2 
�� <�����	
)
��&�9������ �-�
�
 1 <�����	
 <�����	

)
��&�9� �-�
�
 1 <�����	
 <�����	
)
���#�� 6 �-�
�
 1#�<�����	
)
���#:��-�
�
 4 <�����	
  
 2. ���
��
�:&'0��*����!���1���#��� (Cluster Sampling) $���-�
�
 ��Y�0������� �	�
!��!��
Y�0 <�	&�0
�����	
&
�0�����	
)��<�����	
�#���$���	�����2
�#���$���	��� ��

 %0�<�����	

&� ���0�����	
��������
����0�����	
&'0��*�!����	������	&�0Y�0
�����	
$���-�
�
 ��� �	�!��!��
Y�0 
���
�� 
  2.1   -����!���
�����	
<�����	
)
���#:� <�	!���
�����	
��� 4 <�����	
 <�����	
#� 
154 

 "#���!����#���$���	���)��
�����	
&
<�����	
)
���#:�Y�0���	� 233 

 ��� -����!�������� 
h�
��
�#���$���	���<�����	
)
���#:������ 11 <�����	
 ����#���$���	����-�
�
 617 

 
  2.2   -����!���
�����	
<�����	
)
���#�� <�	!���
�����	
��� 6 <�����	
 <�����	
#� 
154 

 "#���!����#���$���	���)��
�����	
&
<�����	
)
���#��Y�0���	� 858 

 ��� -����!�������� 
h�
��
�#���$���	���<�����	
)
���#������� 7 <�����	
 ����#���$���	����-�
�
 925 

 
  2.3  �
�������<�����	
)
��&�9������	�<�����	
���	����Y��$0�� -����!��� 
�� <�����	

��
�� 	�
� �-�
�
 154 

 
  2.4   -����!���
�����	
<�����	
)
��&�9������ ���<�����	
 ��!���Y�0 �-�
�
 154 
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�������� 4  �-�
�
<�����	
 
�����	
  ����2
�#���$���	����-�1
�$��)
��<�����	
 
 

��� 0��
1��
���� 2�����1��
���� 2��������
���� 

1 <�����	
)
��&�9������ 1 154 
2 <�����	
)
��&�9� 1 154 
2 <�����	
)
���#�� 7 925 
3 <�����	
)
���#:� 11 617 

��� 20 1850 8� 

 

 ������!����#���$���	���&
)��
$�
 �� 5 !����%!����-�
�

�����	
 ����2
�#���$���	��� 
&
1$�#�)
��<�����	
 Y�0���$���� �� 5 
 
�������� 5  �-�
�

�����	
 ����2
�#���$���	����-�1
�$��)
��<�����	
 
 

��� 0��
1��
���� 1��
���� 2�����9:��
���� 2��������
���� 

1 <�����	
)
��&�9������ � ���� 	�
� 4 154 
2 <�����	
)
��&�9� ��
�� 	�
� 4 154 
3 <�����	
)
���#�� ��:���	�����'�� 	�
� 4 154 
  �'�	�)���� 	�
� 4 154 
  �#0���� 	�
�  4 154 
  �$��	������������o
���� 4 154 
  �9���:���	 3 110 
  ��p�4�g��'�� 	�#�	 �'�	���	 4 132 
  )�
$�#�� 	�
� 2 67 
4 <�����	
)
���#:� ��9������� 	�
� 2 72 
  1��$q-��� 	� 2 60 

  ���	�'�	�� 	�
� 2 56 
  �0�
13��� 	�
� 1 45 

  	��r���� 	�
� 1 12 

  ��	�#����'���
#�4���� 2 73 
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�������� 5  ($��) 
 

��� 0��
1��
���� 1��
���� 2�����9:��
���� 2��������
���� 

  ��
'�	�� 	�
� 2 60 

  !���

��� 	�
�2 2 67 
  ��
��0��� 	�
� 2 57 

  ��
��#�"������ 	�
� 2 58 

  Y�0	��� 	�
� 2 57 

��� 20 53 1850 8� 

 


8�;����;����<�:<����
�=�������0:��>� 

 

 ��������������	 
-���!�0����2
�
��������&
�������	 ��"f0����	!�0��)��
 �����������
���!�� $-��� � 
���1#���
����	$���s  �����
���������	���������	 ��!��"#$��
���!����%&
���
��
�'�����	��$()��
�����	
'��
��*	�������+ ��  2 !-�
����
�)$���
 ������������*	������ �)$ 36 
&
��������'�	���	 3����� ������ ���
�� 
 �
�������� ��&'0&
�������	
����
��1��������2
 3 $�
 ���
�� 
 $�
 �� 1 !��%��)0��f# ���Y�)��
�����	
 "#!��t *�i ��������	
 <�	��#���g���2
1��
$���!����	��� (Check List) 1#�1���$��
-�&
'������� 
 $�
 �� 2 !��%������	���������	 ��!��"#$��
���!����%&
���
���'�����	��$()��
�����	
 
1�����2
 7 $�
 ���
�� 
 1. 1��!��%��&
!��
)����$
$�$��������	
 ��2

-�%������	������$
$�$��������	
 
 ����o
����������)��9  4�
!�9Y'	 (2551 : Y������w�#)�
0�) <�	)0�
-�%����#���g���2
��$�
�����g
�� 5 ����� (Rating Scale) �-�
�
 9 )0� ���$���	���$��Y�
�� 
 

0:�8��� 
���

���?�
 
��� 

���

���� 
�:�� 

�:��

���?�
 

(0) ������	
 -�&�0
�����	
Y�0������!����g(��������)��
      
(00) 
�����	
�f0!����
�g
�������Y�0���	
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 2. 1��!��%��&
!��
)��1���f�&�&x7!��t *�i ��2

-�%������	����1���f�&�&x7!��t *�i 
 ����o
������ ����)��9  4�
!�9Y'	 (2551 : 1) 1#���'
�  �������� (2551 : 1) <�	)0�
-�%����#���g�
��2
��$������g
�� 5 ����� (Rating Scale) �-�
�
 7 )0� ���$���	���$��Y�
�� 
 

0:�8��� 
���

���?�
 
��� 

���

���� 
�:�� 

�:��

���?�
 

(0) 
�����	
�	�	�� ����!��&�0Y�0�����h#��	!f�)��

����� �� ��"��
�� 

     

(00) 
�����	
�'������
����	�	���	f� ��Y�
 
���!-���:�
���	f� ��
��
 

     

 
 3. 1��!��%��&
!��
)���f�1��������	
 ��2

-�%������	�����f�1��������	
 
 ����o
������ �����  ��
��"��� (2546 : 3) 1#�g��
(  	�$�q
 (2552 : 65) <�	)0�
-�%����#���g���2

��$������g
�� 5 ����� (Rating Scale) �-�
�
 25 )0� ���$���	���$��Y�
�� 
 

0:�8��� 
���

���?�
 
��� 

���

���� 
�:�� 

�:��

���?�
 

������
���������?�� 

(0) 
�����	
'��������	
&
'��
���	
 ��&�0
�����	
�����
���)0� ��$
!
&� 

     

������
�������@A��@� 

(00) 
�����	
'��&�0
�f�*���	����������	
�f0�0�	$
��� 
     

������
�������9���
����� 

(000) 
�����	
Y��!
&� �������	
�f0�������$���s ���'��
���	
 

     

������
������������;� 

(0000) 
�����	
'��
0
��
����f0&
��	��'�$���s �������
�����
s 

     

������
��������0��0�� 

(0000) 
�����	
�f0!�������$0��1)��)�
��������
 �����&�0Y�0

�1

 �������������
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 4. 1��!��%��&
!��
)�����!
��!
�
 ��������	
)��"f0��
��� ��2

-�%������	����
���!
��!
�
 ��������	
)��"f0��
���  ����o
������ ��'
�  �������� (2551 :34) 1#� �
�� 
��
*(���( (2553 : 3) <�	)0�
-�%����#���g���2
��$������g
�� 5 ����� (Rating Scale) �-�
�
 9 )0� 
���$���	���$��Y�
�� 
 

0:�8��� 
���

���?�
 
��� 

���

���� 
�:�� 

�:��

���?�
 

(0) �����
�����	
 -�����0�
"f0��
�����
�	�*���	
1#�&�0
-�1
�
-���2
�	����� 

     

(00) "f0��
�������������!�������g(&
������	
&�0

�����	
�	������	��� 

     

 
 5. 1��!��%��&
!��
)�����	����&
'��
���	
 ��2

-�%������	�������	���� 
&
'��
���	
 ����o
���������t �	  
0�	��� (2551 : 1) 1#� �
��  ��
*(���( (2553 : 4) <�	)0�

-�%����#���g���2
��$������g
�� 5 ����� (Rating Scale) �-�
�
 10 )0� ���$���	���$��Y�
�� 
 

0:�8��� 
���

���?�
 
��� 

���

���� 
�:�� 

�:��

���?�
 

(0) �0�����	
�������%��	� Y�0!����      
(00) �0�����	
��1!�!�������	���      
 
 6. 1��!��%��&
!��
)���t$��������!�
)��
�f ��2

-�%������	�����t$����� 
���!�
)��
�f  ����o
������ h�����g  ��#� (2552 : 1) <�	)0�
-�%����#���g���2
��$������g
�� 
5 ����� (Rating Scale) �-�
�
 10 )0� ���$���	���$��Y�
�� 
 

0:�8��� 
���

���?�
 
��� 

���

���� 
�:�� 

�:��

���?�
 

(0) 
�f!����%���������	
���!�
���	$��
����)0�&�� ���	
      
(00) 
�f�����������#��	
��*����!�
�������:

�����	
 
Y���)0�&� 
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 7. 1��!��%��&
!��
)���w�!����
*(�������
�f���
�����	
 ��2

-�%������	����
�w�!����
*(�������
�f���
�����	
 ����o
������ �
�� ��
*(���( (2553 : 3) <�	)0�
-�%����#���g�
��2
��$������g
�� 5 ����� (Rating Scale) �-�
�
 10 )0� ���$���	���$��Y�
�� 
 

0:�8��� 
���

���?�
 
��� 

���

���� 
�:�� 

�:��

���?�
 

(0) 
�fY���f��	���	0	�!�	�!�%��1�0���
�����	
�� -�Y��%f�      
(00) 
�����	
&�0
���'��	��#��
�f ��
���� ����<���!      
 
 $�
 �� 3 1�����
���!����%&
���
�����	��$()��
�����	
 <�	&'01�����)��!��� 	( 
�f#
-� (2547 : Y������w�#)�
0�) �������0�	��������-�
�
 3 '�� ���$��Y�
�� 
 ������� �� 1 ������1�#� ��2
���
-�1"�

-������
f�&��� �����!�0����2

-�&��� ����
������	
&�0��� ��!�� 

 $���	���  

 
-�$�� 
�-�$� 
�-�&� $�
�-� 
�-��7� 
 ������� �� 2 ���&'0���<	'
( &�0������<	'
(&'0!�	)��!���$���s (The Uses of Thing) 
�-�
�
 5 )0� ���$���	���������<	'
(&'0!�	)��!���$��Y�
����&�0��� ��!�� 
 (00) �������
��!������(&'0���<	'
(��Y�Y�0�0�� 

 $�� 1.  &'0���)�� 2.  &'0�f
��� 3.  &'0�':������ 4.  &'0������z(���� 5.  &'0������z(�
0���� 
 ������� �� 3 ��� �1 
 &�0��
-� ������!���)�� ��!����%&'01 

-� ���-��
�&�0�����!�
 ��!�� 
 $���	��� 1'��f !��� ��&'01 
 ����f�,
�-�3��)0�� 
 ��g{(���&�0
�1

 
 ��g�1����� 1��!��%�� ���#����g{(���&�0
�1

���
�� (��9'�  ���!����.  2524 : 
99-100) 
 1. 
-�%���'��
���
 (Positive Scale) 
   ��� ��!��������:
�0�	�	���	���   � ����� 5 
�1

 
   ���������:
�0�	    � ����� 4 
�1

 
   ��
�#������Y��1
�&�    � ����� 3 
�1

 

�B���� ��<2 ���>� �C�D�: 
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0�	����Y����:
�0�	    � ����� 2 
�1

 
   
0�	 ��!������Y����:
�0�	�	���	���   � ����� 1 
�1

 
 2. 
-�%���'��
��!* (Negative Scale) 

��� ��!��������:
�0�	�	���	���   � ����� 1 
�1

 
���������:
�0�	    � ����� 2 
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 1. ��������!�� $-��� � 
���1#���
����	 ������	�)0����� $��1�� ��$0����� -�����	 
 2. 
-�)0��f# ��Y�0�� -�������
����(1#�!���
����( �����!�0����2
)0�
-�%�� <�	!�0����2

1����$�!��
�����g
�� 5 �����  
 3. 
-��
�������� ��!�0��)��
 �!
����*�
1#�������� ����������
����	 -����$���!��
�������������1�0Y) 
 4. 
-��
�������� ����������1#0� Y�&�0"f0�'��	�'�9�0�
�������� ��� -�����	1#���$�� 	� 
�-�
�
 3  ��
 $���!��
���� ��	�$�� �����&�0Y�0)0�
-�%�� ��
���
#���
����� 4��� ��&'0!���

������	'����
 1#������g�
����'
�
���!��
#0���������)0�
-�%�� ��!�0��)��
 (IOC) )0�
-�%��
 ����
����'
�
���!��
#0��$���1$� 0.5 )��
Y� 1!�����)0�
���
��
&'0Y�0 ����� )0�
-�%����
����'
� 

���!��
#0�� (IOC : Index of consistency) �	f�������� 0.67 %�� 1 3���%����� ��)0�"��
��g{(���
���#���  
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 5.  -����1�0Y)�
��������1#0�
-��!
����*�
1#�������� ����������
����	���
�����
���

-������������
1
�&����&'0Y�0 
 6. 
-�1��!��%�� ����������1#0�Y� �#��&'0 (Try Out) ���
�����	
 ��Y��&'��#���$���	���  
�-�
�
 40 

 �������
�g4���
��������&
�������	 ���
��

-���$���&�0
�1

$����g{( ��$���Y�0 
1#0� -�������
����(����������g���'
��-�
���-�1
� <�	�����
���!����
*(�������)0�
-�%��1$�#�
)0����
�1

��� ���h��� (Item Total Correlation) 1#����
����(��
��
����'������
)��1��!��%�� 
<�	&'0!f$�!�����!� *�i1�#;� (Alpha Coefficient) )��
��
��
 (Cronbach) Y�0"# ���
�� 
  6.1  �0�
��$
$�$��������	
 Y�01��!��%�� �-�
�
 9 )0� ��
���-�
���-�1
� $���1$� 
.2747 %�� .6156
��
����'������
� ����� 0.7281 
  6.2  �0�
1���f�&�&x7!��t *�i Y�01��!��%�� �-�
�
 7 )0� ��
���-�
���-�1
� $���1$� 
.3632 %�� .5841 
��
����'������
� ����� .7320 
  6.3  �0�
�f�1��������	
1��1)��)�
Y�01��!��%�� �-�
�
 5 )0� ��
���-�
���-�1
� 
$���1$� .5230%�� .7198 
��
����'������
� ����� .8291 
  6.4  �0�
�f�1��������	
1���������Y�01��!��%�� �-�
�
 5 )0� ��
���-�
���-�1
� 
$���1$� .4804%�� .5667 
��
����'������
� ����� .7483 
  6.5  �0�
�f�1��������	
1��������Y�01��!��%�� �-�
�
 5 )0� ��
���-�
���-�1
� 
$���1$� .4751%�� .6518 
��
����'������
� ����� .7990 
  6.6  �0�
�f�1��������	
1����!��Y�01��!��%�� �-�
�
 5 )0� ��
���-�
���-�1
� 
$���1$� .3968 %�� .5791 
��
����'������
� ����� .7167 
  6.7  �f�1��������	
1���#���#��	�Y�01��!��%�� �-�
�
 5 )0� ��
���-�
���-�1
� 
$���1$� .5393 %�� .6761 
��
����'������
� ����� .8294 
  6.8  ���!
��!
�
 ��������	
)��"f0��
���Y�01��!��%�� �-�
�
 9 )0� ��
��
�-�
���-�1
� $���1$� .4208 %�� .7299 
��
����'������
� ����� 0.8534 
  6.9  ���	����&
'��
���	
Y�01��!��%�� �-�
�
 10 )0� ��
���-�
���-�1
� $���1$� 
.4730 %�� .6846 
��
����'������
� ����� 0.8537 
  6.10 �t$��������!�
Y�01��!��%�� �-�
�
 10 )0� ��
���-�
���-�1
� $���1$� 
.4891 %�� .7461 
��
����'������
� ����� 0.8893 
  6.11 �w�!����
*(�������
�f���
�����	
Y�01��!��%�� �-�
�
 10 )0� ��
���-�
��
�-�1
� $���1$� .4853 %�� .7738 
��
����'������
� ����� 0.8950 
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  6.12 1�� �!��
���
���'�����	��$( �-�
�
 3 h��� 
-�"#��� �#��&'0�����
����(
��
��
���	�����	 (p) 
���-�
���-�1
� (r) <�	&'0� 

�
 27 ����(�3:
$( �#���!f� �#���$�-�1#���
����'������

<�	&'0!f$� Kr-20 <�	&'0��g{(
���#���)0� ����
��
���	�����	�	f�������� 0.20 - 0.80 &'0��g{(

���#���)0� ����
���-�
���-�1
�$���1$� 0.20 )��
Y� Y�0�-�
�
)0� 
��
���	�����	 (p) 
���-�
���-�1
� 
(r) )��1$�#�h������
�� 
 1. 1�� �!��
���
���'�����	��$(h��� �� 1 ������1�#� &�0�#���1"�

-������
f�&��� 
�����!�0����2

-�&��� ����
������	 �-�
�
 5 )0� ��
��
���	�����	�	f�������� 0.47 %�� 0.58 1#���
��
�-�
���-�1
�������� 0.32 %�� 0.53 1#�
��
����'������
� ����� .8507 
 2. 1�� �!��
���
���'�����	��$(h��� �� 2 ���&'0���<	'
( &�0������<	'
()��
!���)��$�� ���-��
�&�0 �-�
�
 5 )0���
��
���	�����	�	f�������� 0.59 %�� 0.64 1#���
���-�
���-�1
�
������� 0.58 %�� 0.66 1#�
��
����'������
� ����� .9480 
 3. 1�� �!��
���
���'�����	��$(h��� �� 3 ��� �1 
 &�0��
-� ������!���)�� ��!����%
&'01 

-� ���-��
�&�0 �-�
�
 15 )0� ��
��
���	�����	�	f�������� 0.70 %�� 0.80 1#���
���-�
��
�-�1
�������� 0.40 %�� 0.60 1#�
��
����'������
� ����� .8961 
 4. 
-�1��!��%�� ��Y�0 -��������(�-�
�
 1,850 h��� 1#�
-�Y���:�������)0��f#���
�#���$���	��� 
 

��	����
�=�������0:��>� 

 

 "f0����	�-��
�
�����:�������)0��f# $��#-���� ���
�� 
 1. "f0����	)��
��!���
�9�$�)0�!��4��g(���
g�
����!$�( ����� 	�#�	��'4�w�'�	���	 
�����)�
����
��
����(!��4��g("f0 ��
�g��o� �����)0�!��4��g(�'��#�� 
 2. "f0����	$��$�����!�
��
����
��	��
$0
!�����)��"f0 ��
�g��o� �����'��1����	#����	�
1#� -��
��!��)�
����
��
����(&
���!��4��g("f0 ��
�g��o� 
 3. "f0����	$��$�����!�
��
���"f0 ��
�g��o� �����'��1����	#����	�1#�
�����	��
 ����:�
)0��f# 
 4. "f0����	!��4��g("f0 ��
�g��o� �����
-����-��
���2
�����	 ��!��"#$�����
���'�����	��$(
)��
�����	
 
 5. "f0����	�����:�)0��f#<�	�������
 ��  -���'
�)0��f#  -�)0�!���'���
��� �����
-�Y�
���
����(�
�����$��Y� 
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 6. $��$��)��
��!�������g{�$�� 	�#�	 ����� 	�#�	��'4�w�'�	���	 �����)�
����
��
����( 
&
���)���:�������)0��f#���!-�
����
�)$���
 ������������*	������ �)$ 36 ��������'�	���	  ��&'0
��2
�#���$���	���&
�������	  

 7. 
-��
��!��)�
����
��
����(&
�����:�������)0��f# 	��
$��"f0�-�
�	���!%�
����� 
�����)�
����������&
�����:�������)0��f# ��0�� ���
�����	��
 ��#� 1#�!%�
 �� &
����-��
�
���
��:�������)0��f#  

 8. ����$��	�1��!��%�� ����2
�
��������&
�������	 &�0���	�������-�
�

�����	
 ��&'0
��2
�#���$���	��� �����%���-��
���#�
�����	���<�����	
 ��&'0��2
�#���$���	��� "f0����	
-�1��!��%�� 
Y���:�������)0��f#���
�����	
 �� ��2
�#���$���	����0�	$
��� ����� -����'��1��&�0
�����	
 -�
1��!��%���0�	
����)0�&�1#�$���&� 

 9. 
-�1��!��%�� ��Y�0�������-��
�
���&
)��
$�
 �� 8 ��$���&�0
�1

$����g{(
 ��$���Y�0  -����#����! 1#0����
����(��
�� ��!%�$� ����� �!��!��$�z�
 1#���	��
"#)���������	
$��Y� 

 

�����
8���9G0:��>� 

 
 "f0����	
-�)0��f# ����:�������Y�0����#���$���	����� -�������
����()0��f#�0�	�����	�
��*���� ��!%�$� <�	��)��
$�
 ���
�� 
 1. ���
����(�����	 ��!��"#$��
���!����%&
���
���'�����	��$(������!��4��g(�'��#��
<�	�����
���%��1#��0�	#� 
 2. ���
����()0�$�#�������$0
)��)��$��1����!�������
�����	
1#��0�����	
 �0�	
<��1���!-���:��f� ���
�� 
  2.1  ���$���!��#���g����1��1��1����$� (Normality) )��$��1��&

����
��Y�0
$���!�� <�	&'01"
4��
���
������2
��$� (Normal Probability Plot) 3�����2
1"
4�� �������
!-�����$���!��$��1�� ��Y�0����#���)
��&�9�����)
���#�� <�	%0�!�0��1"
4��Y�0�!0
$��
1
� 1	� 1!�����$��1�������1��1��1��<
0���$� 

 2.2  
���!����
*(�'���!0
$�� (Linearity) ������������	1#�$��1��$�� 
��
���
#��
�
#���
)�������	 <�	��
���!����
*(�'���!0
������������	1#�$��1��$�� �������g����
��!%�$� F 
&
������
����(���%�%�	 %0�
��!%�$� F ��
�	!-�
�9 ��!%�$� 
���!����
*(������������	1#�$��1��
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$�����	f�&
�f��'���!0
1#�$���!��
��
���
#���
#���
)�������	 �����g����
�� Durbin Watson 
<�	%0�
�� Durbin Watson �)0�&�#0 2 1!����������	 ��$����
���
#���
#���
� ����
 
  2.3  4��������!0
$����� (Multicollinearity) )�������	  
 3. &
���$���!��4��������!0
$����� (Multicollinearity) )�������	 ���#�	��*�&
 ��
��
�#���&'0������
����( ��!%�$�  3 $�� 
�� Tolerance, Variance Inflation Factor (VIF), 1#�Condition 
Index <�	�������
Y) ���
�� 
 %0�
�� Tolerance ��
��&�#0 0 1!�����$��1��
��
��
���!����
*(!f����$��1�����
s %0���
��
&�#0 1 1!�����$��1��
��
��
���!����
*($�-����$��1�����
s  

%0�
�� Variance Inflation Factor (VIF) !f����s (!f�!�� 
�� 10) 1!���������9��4�������
�!0
$����� 
 %0�
�� Condition Index !f����
 30 1!������������9��4��������!0
$����� 
 4. ���
����(��
��!%�$����
z�
)��$��1����!�������
�����	
 �0�����	
1#�$��1��$�� 
Y�01�� 
���h#��	 
��!��
����	���
��$�z�
 1#���
��!�����!� *�i!�!����
*( �0�	<��1���!-���:��f� 
���
����(��
��
�-��
��
���!-�
�9)��$��1����!�������
�����	
 �0�����	
 ��!��"#$��
���!����%
���
���'�����	��$()��
�����	
<�	������
����(�������� 3������f�1��������
����( 2 ����� 
�� 
�����
�����	
 1#�������0�����	
 �0�	<��1��� HLM $��)��
$�
���
�� 
  4.1  ������
����(�����
�����	
 
   4.1.1 ����� �
����(<���#���� �����&�0 ��:
4�����)��$��1��$�������
���
1�����
4�	&
�
��	������������
��	���	��� �������
����(���� *��#)��$��1�������
�����	

$��Y�����Y�� 
   4.1.2 ������
����(<���#�	������	 <�	
-����$��1����!�������
�����	
�)0�����
������
����(������������$��1����!�������
�����	
$��1��&�!��"#$��
���!����%&
���
���'��
���	��$( 1#������$���!�����$��1����!�������
-������
����(1#0� -�&�0����
���1�����
�������
�
��	 ����������	��� ����
-�Y����
����(���� *��#)��$��1����!��������0�����	
�������Y�� 
 �����
8���9G��
��9:��
���� 
 ��2
������
����()��
<���#!��$�z�
 <�	
-�$��1����!�������
�����	
 ��!��"#$��

���!����%&
���
���'�����	��$(�	�����
�	!-�
�9 3���Y�0���������
����(<���#�	������	 ����2
 
$��1��$��&
������
����( 1#0�&�0$��1��������0�����	
��2
$��1��$0
 �����$���!���� *��#)�� 
$��1���0�����	
 ��!��"#$��
���!����%&
���
���'�����	��$( 
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?H������<�:<������
8���9G0:��>� 

 
 !%�$����
z�
 Y�01�� 
���h#��	 !��
����	���
��$�z�
  

1. 
���h#��	 <�	&'0!f$����
�� (!���$�   0�	����
-�.  2546 : 108) 
 

X  =
N

X∑  

 
  �����  X   1 
 
���h#��	 
    ΣX  1 
 "#��� ������)��
�1

 
    N  1 
 �-�
�
!��'��&
�#���$���	��� 
 2. 
��
�������	���
��$�z�
 (Standard Deviation) &'0!f$����
�� (4� ����  ���!��)(.  2549 
: 163) 

S.D. =
)1_N(N

2
)X(

2
XN Σ-Σ  

  
  ����� S.D.  1 
 
��
�������	���
��$�z�
 
    ∑ 2

X
 1 
 "#���)��1$�#�
�1

1$�#�$��	��-�#��!�� 

    (∑X )2  1 
 "#���)��
�1

 ������	��-�#��!�� 

  N  1 
 �-�
�


&
�#���$���	��� 
 !%�$� ��&'0&
�����
�g4��)���
�������� ��&'0&
�������	 ���$��Y�
�� 
 1. �����
���� ��	�$���'����
�� (Face Validity) <�	�������'
�
���!��
#0����� (IOC) 
)��"f0�'��	�'�9 <�	&'0!f$�)��<����
##�1#�1r���#$�
 (4� ����  ���!��)(.  2549 : 130) ���
�� 
 

R
IOC

N
=∑  

 
  �����  IOC 1 
  ��'
�
���!��
#0��
�����:
)��"f0�'��	�'�9 
    R∑  1 
  "#���)����������g�)��"f0�'��	�'�9 
      N 1 
  �-�
�
"f0�'��	�'�9 
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  2. ��
���-�
���-�1
�)��1��!��%�� <�	�����
���-�
���-�1
�)��)0�
-�%����	)0� 
(Item Total Correlation) <�	�����
��!�!����
*(�������
�1

��	)0����
�1

���)��)0� ��
��#�� ������ <�	&'0!f$�!�!����
*()�����	�(!�
 (Pearson Product � Moment Correlation Coefficient) 
���
�� (!���$�   0�	����
-�.  2546 : 90) 
 

( )( )

( ) ( )2 22 2

N XY X Y
r

N X N YX Y

− Σ Σ
=

   − −   

∑
∑ ∑ ∑ ∑

 

 
   �����  r  1 
  
���-�
���-�1
���	)0� 
     N  1 
  �-�
�

�����	
&
�#���$���	��� 
     X  1 
  
�1

)��)0�
-�%����	)0� 
     Y  1 
  
�1

"#���)��)0� ����#�� ������ 
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